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s 1)
B H T OF %A HijEET-H%H =5 IR fid e
BEEI Y — R EBRIA 17,650,000 16,550, 000 1,100, 000
pumERHRNA o 8. 200, 000 7,800, 000 400, 000 -
IS RIA : 8, 200, 000 7, 800, 000 0,000
BRI BINA 1,350, 000 1, 350,000 0
HEREEEE G ERA 1,350, 000 1, 350, 000 0 -
BEBRIRA _ 8,000, 000 7, 400, 000 600, 000
ZDIOBLIRA | 100,000 0 100,000 R -
AMESERA (A®) 100, 000 0 100, 000 ]
BEEELIA 100, 000 0 100, 000 )
I BERLSILA 20, 000 20, 000 0 )
ZOBOIRA 20, 000 20, 000 0 .
MR A 20, 000 20, 000 0 =
TN : 20,000 20,000 0
SEEMEAND 17,690,000, 16,590,000 1,100, 000 o
ABBZH 3,417,000 650, 000 2767, 000
BRI 12,717, 000 650, 000 2,067,000 a
BB A 1, 600, 000 0 1, 600, 000
BT M 30,000 0 30, 000
BERISNF 3 400, 000 650, 000 A250, 000 -
IERETHE 550, 000 0 550, 000
GHAZZEATHEN 96, 000 0 96, 000
B E LT a 6, 000 0 6,000 a
HALBBRETF 4 35, 000 0 35, 000 1
BANS5XH 350, 000 0 350, 000
sEEIERIE X 350, 000 0 350, 000
EEE T 5. 000, 000 4,700, 000 300, 000
BRBXH 2, 200,000 2, 200, 000 0
REEER T 80, 000 80, 000 0
SR B 20, 000 20, 000 0
ARG EXH 300, 000 200, 000 100, 000
KB 2,150, 000 2,000, 000 150, 000
HEREERELH 140, 000 90, 000 50, 000
BEREBEH 20, 000 20,000 0
ERE R 30, 000 30, 000 0
W 60, 000 60, 000 0
BHBLE 5, 693, 000 7,050,000  AT,357,000 B
BREARTH 90, 000 30, 000 60, 000
MBS EE 40, 000 0 40, 000
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i)
A : T B RIETRAE | S i @
BHAE R B 80. 000 60, 000 20, 000
PR R - : 400,000 160, 000 240, 000
EIEEME N 300, 000 300, 000 0
EEETHLH 3,763, 000 5,500,000  A1,737.0000
M - | 30,000 20,0000 10,000 )
(R . 400, 000 400, 000 0 -
{3 - 495, 000 500, 000 A5.000 -
HRBLH | 65000 20, 000 45,000
W 30,000 60, 000 A30,000
EREMIMIH Q) | 14110,000 12,400,000 1,710,000
FEIHRSMKES (9)=(1)-Q) 3,580, 000 4, 190, 000 A610,000
HEERRESIAL @) 0 0 0
EEREREXH 150, 000 0 150, 000
BRUHRREXE - 150, 000 0 150, 000
RS HEX HE 6 | 150,000 o 150,000
RN ERSIEZEZRE6)=4)-B) A150, 000 0 A150, 000
ZOMDOEHRAE () 0 0 0
ZDHDEMIHIE @) 0 0 0
ZDHROEBREINKEE 9)=(7)- @) 0| 0 0|
FHREH (10) [ 0 0 0
UPHRINZZESH (11)=()+6)+©)- 3,430,000 4,190,000 AT60,000,
AR R RSB (12) | 28,847,068 24,165,798 4,682,170
SR ZLBRBE (11)+(12) | 32277968 28,355,798 3,922,170




